Andy Klise's M2/0ld Pochmann Guide
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Credits

Mackey - http://cubefreak.net/bld/m2_guide.html
Pochmann - http://www.stefan-pochmann.de/spocc/blindsolving/M2R2/
Eric Limeback - http://www.youtube.com/watch?v=ncpkVvIEcKc

For more guides just like this, visit my website - http://www.kungfoomanchu.com


http://youtu.be/4uzGoM41EfE
http://www.kungfoomanchu.com/

Macky Example Solve 1, No Parity
Scramble - BZD2F D' U2R'B2U L2R'D?2L'U2R'"UBR2DLFR2UF D2R?
Corners only scramble - R2 B2 D2 L2B2D? L' U LD?U?2F?R'DR'UF?R'UR'D'
Edges only scramble - RZB2 F2 D' B2 L2 U2R?2F2D?R'B'D'L'D'F'RD L'

Memorization
Corners

CP (a)(sjn b)(m fl) even # of corners permuted, thus you don't have parity

(6(0) I' Use capital letters to denote corner permuted correctly, but needs orientation
Edges

EP (jf rc ie pn y) goes back to m/v so start new cycle immediately

(s ub) went back to beginning of cycle, and all edges accounted for, so stop
EO none

After Donning the Blindfold
1. Corner Permutation

a L' Jb L
S Ja

j D2 L Jb L' D2
n L Jb L'
b F' L' Jb LF
m D'F Ja FD
f L Y L'

[

DL Jb L' D'
After this step, you should get this: R FL2BRB'D?F' U'F2L2UL'UB2R?F

2. Corner Orientation
I DL (RU2R'U'RU'R)(L'U2LUL' UL) L' D'
After this step, you should get this: D'B?FD'URF’D'UB'DB'FL'BD'

3. Edge Permutation
j ULUM2U'L'U
URU M2UR'U'
UM Uz m™m use this alg because it is 1%t in pair
F2 MUMUMUZ M'UM'UM'U2 F2 M2 use this alg because it is 2" in pair
UR'U M2URU'
UL'UM2U LU
x'ULU M2UL'U'x
x' U'R"UM2U'RU x
M U2 M U? use this alg because it is 1%t in pair

<|DT[(D —|O0 = [—h<—

s RRURU' M2UR'UR

u LU L'UM2U' LUL

b x'URUM2U R'"UX
After this step, you solved it

4. Edge Orientation
None

5. Parity
None

Macky's Example Solve 2 - M2/30P, With Parity
Scramble - DF'DR2B2UFL'F'L2U212BR2B'RU'DBR' F' D2B' L' R?

Memorization
Corners
CP (pl z)(urwf) odd # of corners permuted, thus you have parity
Cco B
Edges
EP (fs h)(w ke pr do n) odd # of edges, thus you have parity
EO T

After Donning the Blindfold
1. Corner Permutation

p F Y F'

I DL Jb L' D'
y4 D F2 Ja F2 D'
u Jb

r Y

w D' F2 Ja F2D
f L Y L'

2. Corner Orientation
B (L'U'LU L'"U2L)(RUR'URU2R"

After this step, you should get this: ULDU'RFD?2F R2F?L'F'D'B'UL2UR'

2'2. Do an extra swap because you have parity
Perform the Ja alg: (R'"U?R) Uz D' (R* U)(R'DRU") Z'

After this step, you should get this: FU2LF UL'B'FRB2R'DR F2R2F' R2U

3. Edge Permutation
f URU M2UR'U'
s RRURU'M2UR'U'R
h x'RU'RRUM2U'RUR'x

UR2U' M2UR?U'
xX'L'"ULU' M2UL' U Lx
UL UM2U' LU
x'ULU M2UL'U' x
M U2 M U? use this alg because it is 2" in pair
x'UL'U'M2U LU x
FERUR E'RU' R'F M2 use this alg because it is 2" in pair
x'U R'UM2U' R U X
After this step, you should get this: L12B'RD'R2B'D'BDRBR'UR'U'
(scramble with white on top and orange on front)

S0 alsmoT o xS

4. Parity
(UFPU)M2(U'F2U) + yRay'

5. Edge Orientation
T F2 MUMUMU? M'UM'UM'UZ F2

After this step, you solved it




